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COMMON FIRST MID TERM TEST - JULY 2019

STANDARD - XI RegeNo.f [ T T [ 1]
Time: 1.30 Hrs. CHEMISTRY Marks: 50
Part-1I
Answer all the questions: 15x1=15
1) The equivalent mass of ferrous oxalate is
a) Molar mass of Ferrous oxalate b) Molar mass of Ferrous oxalate
1 ; 2
c) Molar mass of Ferrous oxalate d) None of these
3
2) Which one of the following represents 180g water?
a) 5 moles of water - b) 90 moles of water
c) 6.022x10%3 molecules of water d) 6.022x10%* molecules of water
180 :
3) Match the following prefixes with their multiples.
A) EKMnO, (Acidic) 1. M/2
B) E KMnO, (Neutral) 2. M
C)"EHLPO B (<
D) E H,PO, _ 4. M/5 -
A B C D A B C D
a)aatd 3 2 1. 9% S e R ) 1 3
c)izais -+ 2 1 d)a"%3 1 4 2
4) Electron density in the YZ plane of 3dx?-y? orbital is
a) zero g b) 0.50 c) 0.75 - *d) 0.90
5) If n=6 the correct sequence for filling of electrons will be
a)ns 5> (n-2)f -» (n-1)d - np b) ns - (n-1)d » (n-2)f > np
c) ns » (n-2)f - np -> (n-1)d d) None of these are correct
6) Orientation of orbitals _
a) Magnetic quantum number - b) Spin quantum number
c) Azimuthal quantum number ~d) Principal guantum number
7) Which of the following elements will have the highest electronegativity?
a) Chlorine b) Nitrogen
c) Cesium d) Fluorine :
8) An elements M combines with Cl what would be the formula of the compound
obtained if M has a valence of 2?
a) MClI b) MCI, c) M,Cl d) M,Cl,
9) Common electronic configuration of 'd" block elements.
ayns? nd! % SEbERsENp! @-1)¢ 1P c) nsl-2 (n-1)91-10
10) Hardness of water is due to of calcium and magnesium.
a) bicarbonates b) sulphates c) chlorides + d) all the above
11) Tritum nucleus contains : b
a) 1p+0n b) 2p+1n c) 1p+2n . d) none of these
12) Zeolite used to soften hardness of water is hydrated
a) Sodium aluminium silicate b) Calcium aluminium silicate

c) Zinic aluminium borate - d) Lithium aluminium hydride
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13) The value of the gas constant R iS , stry

a) 0.082 dm? atm : ' b) 0.987 cal mol~! k!
2 ie)8i3 Y'mol™ k! d) 8 erg mol™! k?
14) Maximum deviation from ideal gas IS expected from -
: C)H

a) CH4(g) b) NH3 i o d) NZ(Q)

15) The parameters that describe the gaseous state are _ 4
a) volume b) pressure C) temperature  d) all of these

Part - II :
Answer any four of the following questions, yed ' : - Ax2=8

Question No. 21 is compulsory.

16) Calculate the molar mass of the followmg compounds

(i) Urea [CO(NH,),] (ii) Boric acid [H,B0,] P .

17) Balance the equation by ion electron method
| - C,0,% +Cr,0,> - Cr**+CO, (in acid medium) ,
n' 18) How many orbltals are possuble for n = 4? i | )

 19) The size of CI” = 1.81R and CI = 0. 992\ Explam ; . ;

20) Write any two uses of deuté‘ﬁunn o ]

b 21} Give the expressrons of critlcal eﬂns’tants by usmg Vandér Vaa
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